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P.G.DIPLOMA EXAMINATION, 2009
(ACTUARIAL STATISTICS)
(PAPER-II)

120. INSURANCE AND ANNUITIES
Dec)                                                                                              (Time: 3 Hours    

                                                      Maximum: 100 Marks    
                                            PART-A                               (5×8=40)
Answer any FIVE questions

1. Explain Endowment Insurance.
2. Describe level benefit insurance.
3. Describe the insurance payable at the end of year of death.

4. Derive the formula for present value of a immediate annuity due of 1.p.a

5. Define annuity. Explain the types of annuities.
6. Derive an expression for endowment assurance.
7. Define communication function. State some of the relationships between the commutation notations.

8. What is the value, at the end of 8 years of a immediate annuity of Rs.125 p.a for 12 years, the rate of  interest being 5% p.a

                                                   PART-B                                      (5×12=60)
Answer ALL questions

9. a) Describe the different aspects involved in insurance payable at the moment of death.
(OR)
b) Find the net single premium for a 20 year endowment assurance with sum assured Rs.500 payable at the moment of death for a select life aged 40 subject to the following information at 4% interest.
                                  Given M[40]=1,904.86           D[40]=6981.60
                                             M60 = 1,477.08           D60 = 2855.59
2
10. a) Establish the relationship between insurances payable at the moment of death and at the end of the year of death.
(OR)

b) The following particulars are given :
	x
	25
	26
	27
	28
	29
	30

	lx
	97380
	97088
	96794
	96496
	96194
	95887

	dx
	292
	294
	298
	302
	307
	313


    Calculate the level annual premium for assurance given below, ignonng     

    interest and expenses.
i) A temporary assurance of Rs.1000 for 2 years for a person aged 25.

ii) An endowment assurance of Rs. 1000 for 4 years to a person aged 
   25.
11. a) Prove that m/  a   n       = a m+n   –a m
(OR)
b) A serier of 8 annual sums of money is payable, the first payment taking place at the end of one year from now. The first five payments are Rs.300 each and the last three payments are Rs.200 each. Find the present values of the eight payments @8% p.a.
12. a) Explain i) Endowment  insurance
                          ii) Double endowment insurance

 (OR)
b) Prove that 
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13. a) Write an explanatory note on increasing life annuity.
 (OR)
b) Prove that (Ia)x=
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